
Elements of Programming Languages
Lecture Notes: LData

1 Abstract Syntax

Expr 3 e ::= n ∈ N | e1 + e2 | e1 × e2 LArith

| b ∈ B | e1 == e2 | if e then e1 else e2 LIf

| x | let x = e1 in e2 LLet

| e1 e2 | λx:τ. e LLam

| rec f(x : τ1) : τ2. e LRec

| (e1, e2) | fst e | snd e | let pair (x, y) = e1 in e2 | ()
| left(e) | right(e) | case e of {left(x)⇒ e1 ; right(y)⇒ e2} LData

Type 3 τ ::= int LArith

| bool LIf

| τ1 → τ2 LLam

| τ1 × τ2 | unit | τ1 + τ2 | empty LData

Γ ::= x1 : τ1, . . . , xn : τn

V alue 3 v ::= n ∈ N LArith

| b ∈ B LIf

| λx. e LLam

| rec f(x). e LRec

| (v1, v2) | () | left(v) | right(v) LData
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1.1 Fresh variables

In the following, ⊕ stands for any binary operator.

x # e

n ∈ N
x # n

x # e1 x # e2
x # e1 ⊕ e2

b ∈ B
x # b

x # e x # e1 x # e2
x # if e then e1 else e2

x 6= y

x # y

x # e2
x # let x = e1 in e2

x 6= y x # e1 x # e2
x # let y = e1 in e2

x # e1 x # e2
x # e1 e2 x # λx:τ.e

x 6= y x # e

x # λy:τ.e

x # rec f(x:τ) : τ ′. e f # rec f(x:τ) : τ ′. e

x 6= f, y x # e

x # rec f(y:τ) : τ ′. e

x # e1 x # e2
x # (e1, e2)

x # e

x # fst e

x # e

x # snd e

x # e2
x # let (x, y) = e1 in e2

y # e2
y # let (x, y) = e1 in e2

z # e1 z # e2
z # let (x, y) = e1 in e2

x # e

x # left(e)

x # e

x # right(e)

x # e x # e2
x # case e of {left(x)⇒ e1 ; right(y)⇒ e2}

y # e y # e1
y # case e of {left(x)⇒ e1 ; right(y)⇒ e2}

z # e z # e1 z # e2
z # case e of {left(x)⇒ e1 ; right(y)⇒ e2}
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1.2 Substitution

n[e/x] = n

(e1 ⊕ e2)[e/x] = e1[e/x]⊕ e2[e/x]

b[e/x] = b

(if e0 then e1 else e2)[e/x] = if (e0[e/x]) then (e1[e/x]) else (e2[e/x])

x[e/x] = e

y[e/x] = y (x 6= y)

(let y = e1 in e2)[e/x] = let y = e1[e/x] in e2[e/x]

(where y 6∈ FV (e))

(λy:τ. e0)[e/x] = e0[e/x]

(where y 6∈ FV (e))

(e1 e2)[e/x] = (e1[e/x]) (e2[e/x])

(rec f(y:τ):τ ′ = e0)[e/x] = e0[e/x]

(where f, y 6∈ FV (e))

(e1, e2)[e/x] = (e1[e/x], e2[e/x])

(fst e0)[e/x] = fst (e0[e/x])

(snd e0)[e/x] = snd (e0[e/x])

(let (y, z) = e1 in e2)[e/x] = let (y, z) = e1[e/x] in e2[e/x]

(where y, z 6∈ FV (e))

(left(e0))[e/x] = left(e0[e/x])

(right(e0))[e/x] = right(e0[e/x])

case e0 of {left(y)⇒ e1 ; right(z)⇒ e2})[e/x] = case (e0[e/x]) of {left(y)⇒ e1[e/x] ; right(z)⇒ e2[e/x]}
(where y, z 6∈ FV (e))
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2 Evaluation

e ⇓ v for LArith

v ⇓ v
e1 ⇓ v1 e2 ⇓ v2
e1 + e2 ⇓ v1 +N v2

e1 ⇓ v1 e2 ⇓ v2
e1 × e2 ⇓ v1 ×N v2

e ⇓ v for LIf

e1 ⇓ v e2 ⇓ v
e1 == e2 ⇓ true

e1 ⇓ v1 e2 ⇓ v2 v1 6= v2
e1 == e2 ⇓ false

e ⇓ true e1 ⇓ v1
if e then e1 else e2 ⇓ v1

e ⇓ false e2 ⇓ v2
if e then e1 else e2 ⇓ v2

e ⇓ v for LLet

e1 ⇓ v1 e2[v1/x] ⇓ v2
let x = e1 in e2 ⇓ v2

e ⇓ v for LLam

λx. e ⇓ λx. e
e1 ⇓ λx.e e2 ⇓ v2 e[v2/x] ⇓ v

e1 e2 ⇓ v

e ⇓ v for LRec

rec f(x). e ⇓ rec f(x). e

e1 ⇓ rec f(x). e e2 ⇓ v2 e[rec f(x). e/f, v2/x] ⇓ v
e1 e2 ⇓ v

e ⇓ v for LData

e1 ⇓ v1 e2 ⇓ v2
(e1, e2) ⇓ (v1, v2)

e ⇓ (v1, v2)

fst e ⇓ v1
e ⇓ (v1, v2)

snd e ⇓ v2
e1 ⇓ (v1, v2) e2[v1/x, v2/y] ⇓ v
let pair (x, y) = e1 in e2 ⇓ v

e ⇓ v
left(e) ⇓ left(v)

e ⇓ v
right(e) ⇓ right(v)

e ⇓ left(v1) e1[v1/x] ⇓ v
case e of {left(x)⇒ e1 ; right(y)⇒ e2} ⇓ v

e ⇓ right(v2) e2[v2/y] ⇓ v
case e of {left(x)⇒ e1 ; right(y)⇒ e2} ⇓ v
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3 Types

Γ ` e : τ for LArith

Γ ` n : int

Γ ` e1 : int Γ ` e2 : int

Γ ` e1 + e2 : int

Γ ` e1 : int Γ ` e2 : int

Γ ` e1 × e2 : int

Γ ` e : τ for LIf

Γ ` b : bool

Γ ` e1 : τ Γ ` e2 : τ

Γ ` e1 == e2 : bool

Γ ` e : bool Γ ` e1 : τ Γ ` e2 : τ

Γ ` if e then e1 else e2 : τ

Γ ` e : τ for LLet

Γ(x) = τ

Γ ` x : τ

Γ ` e1 : τ1 Γ, x : τ1 ` e2 : τ2
Γ ` let x = e1 in e2 : τ2

Γ ` e : τ for LLam

Γ, x:τ1 ` e : τ2
Γ ` λx:τ1. e : τ1 → τ2

Γ ` e1 : τ1 → τ2 Γ ` e2 : τ1
Γ ` e1 e2 : τ2

Γ ` e : τ for LRec

Γ, f : τ1 → τ2, x : τ1 ` e : τ2
Γ ` rec f(x:τ1) : τ2. e : τ1 → τ2

Γ ` e : τ for LData

Γ ` e1 : τ1 Γ ` e2 : τ2
Γ ` (e1, e2) : τ1 × τ2

Γ ` e : τ1 × τ2
Γ ` fst e : τ1

Γ ` e : τ1 × τ2
Γ ` snd e : τ2

Γ ` e1 : τ1 × τ2 Γ, x : τ1, y : τ2 ` e2 : τ

Γ ` let pair (x, y) = e1 in e2 : τ

Γ ` e : τ1
Γ ` left(e) : τ1 + τ2

Γ ` e : τ2
Γ ` right(e) : τ1 + τ2

Γ ` e : τ1 + τ2 Γ, x : τ1 ` e1 : τ Γ, y : τ2 ` e2 : τ

Γ ` case e of {left(x)⇒ e1 ; right(y)⇒ e2} : τ
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